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2. Let F be a field, and let A be aqmatrix such that A" = 0 for some n > 0. Prove that I — A

{&
is invertible. Bonus challenge: find the inverse of I NW‘ VI
A - Terdibe <——> 1‘@\”(1 A)=721.
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(a) T F Let F be a field. Then F™ is isomorphic to F if and only if n = m.

(b) T F Let F be a field. Then My, x,,(F') and M,y (F) are isomorphic if and only if “=8
n=mn'and m=m'.
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(¢c) T F IfT:V - Wand U : W — V are linear transformations such that 77U = idyy,

then UT = idy .

R

(d) T F IfT,S e L(V,W) are isomorphisms, then 7"+ S is also an isomorphism. "]
(e) T F If A, B € Myx,(F) are invertible and AB = BA, then A~'B~! = B~1A~1,

@) dwV=dw WD The.
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